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+315,437

KM =  0+003,000
TS  =  315,437 m

3,500 m

2,500 %

+315,350

KM =  0+006,500
TS  =  315,350 m

2,142 m

0,995 %

+315,328

KM =  0+008,642
TS  =  315,328 m
 f     =      0,010 m
 T    =      2,110 m
 H    =        216 m

6,541 m
0,958 %

+315,391

KM =  0+015,182
TS  =  315,391 m
 f     =      0,004 m
 T    =      2,459 m
 H    =        748 m

4,618 m
1,615 %

+315,466

KM =  0+019,800
TS  =  315,466 m
 f     =      0,007 m
 T    =      2,076 m
 H    =        300 m

7,655 m2,999 %

+315,695

KM =  0+027,455
TS  =  315,695 m
 f     =     -0,012 m
 T    =      4,968 m
 H    =       1058 m

20,964 m2,060 %
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KM =  0+048,419
TS  =  316,127 m
 f     =     -0,021 m
 T    =      8,059 m
 H    =       1520 m

14,865 m
1,000 %

+316,276

KM =  0+063,284
TS  =  316,276 m
 f     =     -0,032 m
 T    =      6,388 m
 H   =          639 m

29,322 m
1,000 %
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8,029 %
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KM =  0+155,203
TS  =  312,585 m
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 T    =      3,075 m
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9,897 m
11,744 %
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TS=  311,422 m
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Stadtverwaltung Zwickau
Werdauer Straße 62
08056 Zwickau

Grundhafter Ausbau Comeniusweg
zwischen August-Schlosser-Straße

und Helmholtzstraße, Zwickau

VERGABEUNTERLAGEN

Höhenplan 1, Achse 1

1:250/25
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Ablauf in vorh.
Abwasserltg.

Ablauf in vorh.
Abwasserltg.

SE
 8

Ablauf in vorh.
Abwasserltg.

SE
 9

Ablauf in vorh.
Abwasserltg.

SE
 1

0

Ablauf in vorh.
Abwasserltg.

Comeniusweg

2,060 %

H  =         1058 m
T   =       4,968 m
f    =      -0,012 m

KM=   0+027,455
TS =   315,695 m

1,000 %

Zeichenerklärung
Gradientenhochpunkt

Gradiententiefpunkt

Damm

Einschnitt

Ausrundungsbeginn Kuppe /
Ausrundungsende Wanne

Neigungsbrechpunkt
mit Angabe von:
Ausrundungshalbmesser
Tangentenlänge
Stichhöhe

Bau-km
Höhe Tangentenschnittpunkt

Längsneigung und 
Abstand zum nächsten 
Neigungsbrechpunkt20,964 m

14,865 m

rechts
Straßenablauf

links
Straßenablauf

Anschlussleitung Straßenablauf
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